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Present vs. Future

So in present day, my footprint in tons CO2 per year is about
10 metric tons which is higher than the planetary average of
5.5 tCO2 per year. Which is equivalent to 3.64 hectares of
tropical forest. Future me on the other hand is living a more
exotic lifestyle which comes with its consequences. With
58.71 metric tons, that is equivalent to 21.35 hectares of
tropical forest. Comparing the two, my future lifestyle is
insanely higher than the planetary average as well as the life
| am living now. There are different factors that added to this
and the main one being travel and transportation.
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